Problems :

A.) Multiple IBs in a Row

B.) Wrong Order Placement (too soon)

A.) If Multiple IBs show up in a row (back to back) , we only consider
the first IB to place an Order
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B.) I saw that the EA placed an Order on the Wrong Bar (Time)

It took a trade on the 7 o clock bar wich is to soon.. as the 8 o clock bar isnt formed yet..

not before ...

it actually should start trading after the 8 o clock bar ..

False:

137500

R -

137535

137165

JE5ES

ro--t1

1.36800

136430

136065

---f 135655




